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Eduqas GCSE History Component 1 (Studies A)

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 744 2.4 1.1 4 60.3 98.7
2 727 3.7 2 8 45.8 96.4
3 679 4.2 3 12 35.4 90
4 715 4.2 2.6 10 42.3 94.8
5 706 6 3 16 37.3 93.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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QUESTION 4


Explain the connections between TWO of the following that are to do with the legacy of the Black 
Death.	 [10]


	 •	 Statute of Labourers
	 •	 Wages
	 •	 Labour shortages
	 •	 Rents


Issues chosen:                                                        and                                                       
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Question 5 
 
Mark allocation: AO1 (b) AO2 AO3 AO4(a-d) SPaG 


19 4 
  


12 3 
 
Question:  How far do you agree with this interpretation of the 


significance of the Peasants’ Revolt? [16+3] 
 
Band descriptors and mark allocations 
 


 AO1(b)  4 marks AO4 (a-d)  12 marks 
BAND 4 
 


Demonstrates very detailed 
understanding of the key 
feature in the question. 


4 Fully analyses and evaluates how 
and why interpretations of this 
issue differ, demonstrating 
awareness of the wider historical 
debate over the issue. A well 
substantiated judgement about 
the accuracy of the interpretation 
is reached, set within the context 
of the historical events studied. 
The relevance of the authorship of 
the interpretation is discussed. 


10-12 


BAND 3 
 


Demonstrates detailed 
understanding of the key 
feature in the question. 


3 Analyses and evaluates how and 
why interpretations of this issue 
differ. Some understanding of the 
wider historical debate over the 
issue is displayed. A clear 
judgement is reached, displaying 
understanding of how and why 
interpretations of the issue may 
differ. Appropriate reference is 
made to the authorship.  


7-9 


BAND 2 
 


Demonstrates some 
understanding of the key 
feature in the question. 


2 Some analysis and evaluation of 
the interpretation and other 
interpretations is displayed. A 
judgement is reached with 
superficial reference made to 
authorship. 


4-6 


BAND 1 
 


Demonstrates basic 
understanding of the key 
feature in the question. 


1 Makes simple comments about 
the interpretation with little 
analysis or evaluation. Little or no 
judgement reached. 


1-3 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


• the interpretation clearly links the Peasants’ Revolt to the ending of serfdom; 
• the interpretation is based on the understanding that the Peasants’ Revolt was a 


significant success in the short and longer-term; 
• the interpretation states that the Poll Tax was withdrawn; the King and ruling class 


learned that common people could not be treated harshly; 
• the interpretation asserts that the Peasants’ Revolt was significant insomuch as it 


effectively ended serfdom and in effect the Feudal System; 
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• other interpretations may state that the ending of serfdom had begun prior to the 
Black Death; 


• the interpretation fails to take into account the impact of the Black Death on serfdom; 
• it also fails to take into account the repression that took place after the Peasants’ 


Revolt and despite the fact that the Poll Tax was withdrawn, the position of the 
peasants did not improve; 


• candidates may assert that the interpretation is written by a supporter of working 
class rights; 


• the interpretation is clearly subjective in its view and is aimed at an audience that 
would presumably be sympathetic to the views presented; 


• the accuracy of the interpretation is therefore subject to debate; it may well 
accurately reflect the significance of the Peasants’ Revolt, but may be narrow in 
focus; 


• it should therefore be viewed as part of a wider historical debate over the issue which 
includes a range of different interpretations of the significance of the Peasants’ 
Revolt. 


 
After awarding a band and a mark for the response, apply the performance descriptors for 
spelling, punctuation and the accurate use of grammar (SPaG) and specialist terms that 
follow. 
 
In applying these performance descriptors: 
- learners may only receive SPaG marks for responses that are in the context of the 


demands of the question; that is, where learners have made a genuine attempt to 
answer the question 


- the allocation of SPaG marks should take into account the level of the qualification. 
 


Band Marks Performance descriptions 
High 3 • Learners spell and punctuate with consistent accuracy 


• Learners use rules of grammar with effective control of 
meaning overall 


• Learners use a wide range of specialist terms as appropriate 
Intermediate 


 
2  • Learners spell and punctuate with considerable accuracy 


• Learners use rules of grammar with general control of 
meaning overall 


• Learners use a good range of specialist terms as appropriate 
Threshold 


 
1 • Learners spell and punctuate with reasonable accuracy 


• Learners use rules of grammar with some control of meaning 
and any errors do not significantly hinder meaning overall  


• Learners use a limited range of specialist terms as appropriate 
 
 


0 • The learner writes nothing 
• The learner’s response does not relate to the question 
• The learner’s achievement in SPaG does not reach the 


threshold performance level, for example errors in spelling, 
punctuation and grammar severely hinder meaning 
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		Use 0 for incorrect or irrelevant answers.

		Use 0 for incorrect or irrelevant answers.












Sticky Note

The candidate immediately provides a judgement as required in the mark scheme; relevant evaluation of the interpretation takes place, within the correct historical context.







Sticky Note

The response is supported by detailed understanding of the key feature.







Sticky Note

A counter-argument is provided, demonstrating understanding of the 'wider historical debate'; 



Sticky Note

Whilst the candidate addresses the issue of authorship, the comments are somewhat mechanical; no consideration of the audience is provided.



Sticky Note

Overall, whilst the candidate has provided a good two-sided response, the issue of differing historical interpretations has not really been addressed; AO4 therefore capped at Band 3.
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Examiner
onlyQUESTION 5


Read the interpretation below and then answer the question which follows.


The rebellion had been defeated but this does not mean that it was a failure. The Poll Tax 
was withdrawn and not restored. The king and the ruling class learned that in spite of their 
bold words, it was not wise to treat the common people harshly. Serfdom was dealt a blow 
from which it never fully recovered.


[David Brandon, writing an article on the Peasants’ Revolt published on the website Socialist 
Appeal in 2008. The website promotes the interests of the working class]


How far do you agree with this interpretation of the significance of the Peasants’ Revolt?	 [16]


[In your answer you should refer to how and why interpretations of this issue differ. Use your own
knowledge and understanding of the wider historical debate over this issue to reach a well-supported
judgement.]


Marks for spelling, punctuation and the accurate use of grammar and specialist terms are allocated
to this question.	 [3]
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MARK SCHEME 
 


Component 1: BRITISH STUDY IN DEPTH 
 


1A: Conflict and Upheaval: England, 1337-1381 
 


Question 1 
 
Mark allocation: AO1 AO2 AO3 (a) AO4 


4 
 


 4 
 


  
Question:   What can be learnt from Sources A and B about the 


causes of the Hundred Years’ War? [4] 
 
Band descriptors and mark allocations 
 


 AO3(a)  4 marks 
 


BAND 2 
 


Analyses and uses the content of both sources for the enquiry.  
If answer is imbalanced in use of sources award 3 marks. 
 


3-4 


BAND 1 
 


Generalised answer with little analysis, paraphrasing or describing sources 
only. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


• the sources show a range of factors caused the Hundred Years’ War; 
• Source A shows Philip of France threatened war on England unless peace was made 


with Scotland; 
• it shows the links the French had with the Scots and how these caused the Hundred 


Years’ War; 
• it implies that Philip was a tyrant and deliberately incited the French to war; 
• Source B shows how the war was caused by Edward offering refuge to Robert, 


Count of Artois; 
• Edward refused to hand Robert, Count of Artois over to Philip of France; 
• Aquitaine was confiscated because Edward refused to obey Philip and this continued 


disobedience caused the war. 
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Highlight

Immediately refers to Source A, but only one relevant point extracted.



Sticky Note

Two relevant points extracted from Source B; imbalanced use of sources, therefore 3 marks awarded.
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Answer all questions.


QUESTION 1


Study the sources below and then answer the question which follows.


Source A


Philip of France threatened that unless the King of England made peace with Scotland, he 
would declare war on him. The threats were ignored so Philip made war against our King, 
who was the rightful heir to the kingdom of France. Philip, the tyrant of France, incited the 
French to fight the English.


[Geoffrey le Baker, a contemporary English chronicler, writing in the late 1330s]


Source B


King Edward of England offered refuge to the traitor Robert, Count of Artois. He refused 
to hand him over to our gracious King Philip. The confiscation of Aquitaine was a just 
punishment for his refusal to obey his overlord, His Majesty the King of France. He is a 
servant of our French King and his disobedience has caused the war.


[An extract from a contemporary French chronicle]


What can be learnt from Sources A and B about the causes of the Hundred Years’ War?	 [4]
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Question 2  
 
Mark allocation: AO1 (b) AO2 AO3 (a+b) AO4 


8 2  6 
 


 
Question:  To what extent does this source accurately reflect the 


reasons for the Peasants’ Revolt? [8] 
 
Band descriptors and mark allocations 
 


 AO1(b)  2 marks  AO3 (a+b)  6 marks 
 


   BAND 3 
 


Analyses and evaluates the 
accuracy of the source, set within 
the context of the historical 
events studied. The strengths and 
limitations of the source material 
are fully addressed and a 
substantiated judgement is 
reached.  


5-6 


BAND 2 
 


Demonstrates 
detailed 
understanding of the 
key feature in the 
question. 


2 BAND 2 
 


Begins to analyse and evaluate 
the source. A judgement, with 
some support is reached, 
discussing the accuracy of the 
source material set within the 
historical context. 


3-4 


BAND 1 
 


Demonstrates some 
understanding of the 
key feature in the 
question. 


1 BAND 1 
 


Very basic judgement reached 
about the source with little or no 
analysis or evaluation. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


• the source accurately reflects the reasons for the Peasants’ Revolt insomuch as it 
highlights the issues of bondage and serfdom which were factors that strongly 
contributed to the Revolt; 


• the source clearly shows how the issue of freedom was a factor in causing the 
Revolt; 


• it shows how the idea of equality among men was prevalent at this time; 
• it accurately reflects the reasons for the Peasants’ Revolt as it is John Ball speaking 


to the peasants; he was a major figure before and during the Revolt; 
• it shows how preachers such as Ball were an influence on the peasants, using 


Biblical references to highlight their grievances; 
• the source however, is somewhat narrow in focus, only highlighting a few reasons for 


the Revolt; 
• the fact that it is the priest John Ball speaking to the peasants shows how its 


historical context is narrow, largely focusing on the issues of religion and freedom, 
rather than a wider range of factors such as the impact of the French Wars and the 
Poll Tax. 
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		Question:  Why was the ‘Black Prince’ a significant figure in the Hundred Years’ War? [12]
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		Use 0 for incorrect or irrelevant answers.
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Sticky Note

The candidate begins by making an appropriate judgement.



Sticky Note

Background AO1 provided.



Sticky Note

Consideration of the authorship is provided, reflecting the 'limitations of the source material'.







Sticky Note

Reference to other relevant reasons provided; overall the candidate analysed and evaluated the accuracy of the source material, reaching a substantiated judgement - Band 4 AO3 achieved.
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QUESTION 2


Study the source below and then answer the question which follows.


Source C


‘There were no gentlemen when Adam dug the fields and Eve spun the fabric. From the 
beginning all men were created equal, but our bondage and serfdom came in by the unjust 
oppression of wicked men. I urge you to cast off the chains of bondage and recover liberty.’


[John Ball speaking to the peasants at Blackheath, London, 12 June 1381]


To what extent does this source accurately reflect the reasons for the Peasants’ Revolt?	 [8]
[In your answer you should refer to the strengths and limitations of the source and use your own
knowledge and understanding of the historical context.]
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Question 3  
 
Mark allocation: AO1 (a+b) AO2 AO3 AO4 


12 4 8   
 


Question:  Why was the ‘Black Prince’ a significant figure in the 
Hundred Years’ War? [12] 


 
Band descriptors and mark allocations 
 


 AO1(a+b)  4 marks AO2  8 marks 
 


BAND 4 
 


Demonstrates very detailed 
knowledge and understanding 
of the key feature in the 
question. 


4 Fully explains the significance of 
the identified issue. A fully 
reasoned and well supported 
judgement is reached, set within 
the relevant historical context. 


7-8 


BAND 3 
 


Demonstrates detailed 
knowledge and understanding 
of the key feature in the 
question. 


3 Explains the significance of the 
identified issue. The answer 
reaches a supported judgement, 
set within the historical context. 


5-6 


BAND 2 
 


Demonstrates some 
knowledge and understanding 
of the key feature in the 
question. 


2 Begins to explain the significance 
of the identified issue, 
culminating in a weakly 
supported judgement. 


3-4 


BAND 1 
 


Demonstrates basic 
knowledge and understanding 
of the key feature in the 
question. 


1 A basic, unsupported explanation 
is provided regarding 
significance. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


• the Black Prince was a very significant figure in the Hundred Years’ War; 
• the Black Prince was Edward III’s eldest son and was given the title the Prince of 


Wales in 1343; 
• he played a significant role in the Battle of Crecy, holding his position against John of 


Bohemia’s attack, during which John was killed; 
• he led several significant chevauchees through France, gaining a great deal of 


plunder and significantly weakening French resistance; 
• he also played a significant role in the siege of Calais and in the great chevauchee of 


1355-56; 
• this campaign was followed by the Battle of Poitiers, in which the English forces were 


led by the Black Prince; 
• the overwhelming English victory was extremely significant as it seriously weakened 


the French and led to the Treaty of Bretigny in 1360; 
• he was also significant during the 1360s in maintaining English hegemony; 
• his illness and withdrawal back to England was a significant factor in the demise of 


English fortunes; 
• he was also a significant figure in terms of his popularity in England and his 


contribution to the chivalric attitudes of the time. 
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		Use 0 for incorrect or irrelevant answers.
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Sticky Note

The candidate begins to address the significance of the chosen issue, backed up by relevant AO1.



Sticky Note

The response is supported by 'detailed knowledge and understanding', achieving Band 3 for AO1.







Sticky Note

The siginficance of the identified issue is explained within the historical context, but is not fully drawn out throughout the response - low Band 3 AO2.












 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


4 








6


(C100UA0-1)06


Examiner
only


© WJEC CBAC Ltd.


QUESTION 3


Why was the ‘Black Prince’ a significant figure in the Hundred Years’ War?	 [12]
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Question 4 
 
Mark allocation: AO1 (a+b) AO2 AO3 AO4 


10 2 8  
 


 
Question:   Explain the connections between TWO of the following 


that are to do with the legacy of the Black Death.  [10] 
 
Band descriptors and mark allocations 
 


 AO1(a+b)  2 marks AO2  8 marks 
    


BAND 4 
 
 


Fully explains the relevant 
connections between the 
chosen features, set within the 
correct historical context. 


7-8 


   BAND 3 
 


Explains the connections 
between the chosen features, 
set within the correct historical 
context. 


5-6 


BAND 2 
 


Demonstrates 
detailed knowledge 
and understanding of 
the key features in the 
question. 


2 BAND 2 
 


Begins to explain the 
connections between the 
chosen features. 


3-4 


BAND 1 
 


Demonstrates some 
knowledge and 
understanding of the 
key features in the 
question. 


1 BAND 1 
 


A basic, unsupported 
explanation of connections 
between the chosen features. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are: 
 
All the historical features mentioned in the question are inter-related; connections identified may 
include:  
 


• the Statute of Labourers is connected to wages as the authorities were determined to 
prevent wages rising in the wake of the Black Death; the Statute of Labourers sought to 
restore wages to their pre-plague levels; 


• labour shortages are connected to wages and the Statute of Labourers as it was 
because of labour shortages that peasants were able to demand higher wages from 
lords and seek to move manors; the Statute of Labourers sought to address these 
issues; 


• rents are connected to labour shortages and wages as the increased bargaining power 
of the surviving peasants meant they could negotiate lower rents in tandem with 
demands for higher wages; in some places the crippling labour shortages led to rents 
being abolished; 


• all the issues are connected as they were the results of the Black Death; the labour 
shortage was a short-term result and this led to changes in wages and rents, shortly later 
leading to the passing of the Statute of Labourers.  
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Sticky Note

Clear understanding of the first issue displayed, set within the correct historical context.



Sticky Note

The candidate begins to make connections - 'As a result of this...' and again displays relevant AO1.







Sticky Note

Whilst the response displays good AO1, the connections aspect of the question is not fully addressed and therefore achieves high Band 2; greater development and specific focus on the connections were needed.











